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void add(double a,
void sub(double a,
void mul (double a,

void div(double a,

void add(double a,
{
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: void mul(double a,
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int main(void)
{

int nl, n2;

nl = 1234;

printf ("n1=Yd¥n", nl);
n2 = ((2222)+(3333));
printf ("n2=Yd¥n", n2);
printf ("%d¥n", n2);

return O;

}
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$ gcc -E exercise0602.c > output.txt
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1: #include <stdio.h>

2: #include <stdlib.h> /* for rand() srand() */

3: #include <time.h> /* for time() */

4:

5: int main(void)

6: {

7: int i, n;

8:

9: srand ((unsigned)time (NULL)) ;

10:

11: printf ("0~2147483647 :¥n") ; — BLEDRREIZER
12: for (i = 1; i <= 10; i++)

13: printf("%d ", rand());

14:

15: printf ("¥n0.0~1 K : ¥n") ;

16: for (i = 1; i <= 10; i++)

17: printf("%6.4f ", rand() / (RAND_MAX + 1.0));
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19: printf ("¥n1~6:¥n");

20: for (i = 1; i <= 10; i++) {

21: n = (int) (rand() / (RAND_MAX + 1.0) * 6.0);
22: ++n;

23: printf("%d ", n);

24: }

25: printf ("¥n");

26:

27: return O;

29: }
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. #include <stdio.h>
: #include <math.h>

1
2
3:
4: #define N 10
5:

6: int main(void)
7: {

8
9

int i;

10: for (i = 1; i <= 1N; i++) {

11: printf ("sqrt(%2d)=%.15f¥n", i, sqrt((double)i));
12: }

13:

14: return O;

15: }



